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10 - 20 - 30ERILDER SHM3FE6H27H
E f K % ouT IN |[TOTAL|[HDCP| NET
& B SH =X 39 40 79 8.4 70.6
R H)l| E— 41 36 77 2.4 74.6
3 fir FAIER S¢3E 37 41 78 2.4 75.6
4 i B nxE 51 45 96 204 | 756
5 {if 3 AER 51 43 94 18 76
BB RIT 341 64 64 128 36 92
40K DEB
E f K % ouT IN |[TOTAL|[HDCP| NET
& B BE#E Fth 43 39 82 9.6 72.4
R 15k B4 38 37 75 2.4 72.6
3 fir R 28F 43 44 87 132 | 73.8
4 fi A8 AL 40 40 80 6 74
5 {if | E=ER 44 41 85 10.8 | 74.2
BB & Fit 59 58 117 324 | 846
505% X DEB
B f K % ouT IN |[TOTAL|[HDCP| NET
& B e 37 38 75 3.6 71.4
B EE - 39 36 75 2.4 72.6
3 fir i fg— 39 48 87 144 | 72.6
4 fi hifE & 44 40 84 10.8 | 73.2
5 {if BH#B= 50 46 96 228 | 73.2
BB HEH £5F 54 50 104 19.2 | 84.8
605% X DEB
B f K % ouT IN |[TOTAL|HDCP| NET
& B #5MH B 49 49 98 252 | 72.8
B N 45 46 91 18 73
3 fir 5% BHE 37 41 78 4.8 73.2
4 fi R SER 40 43 83 9.6 73.4
5 {if Bl #wE 52 52 104 30 74
BB 2R EA 59 58 117 324 | 846
70 - S0E X DEB
B f K % ouT IN |[TOTAL|HDCP| NET
& B Fl B 38 41 79 7.2 71.8
B it T3 42 41 83 108 | 72.2
3 fir AP A 46 44 90 16.8 | 73.2
4 fi SEH #— 39 38 77 3.6 73.4
5 {if A HREER 40 46 86 12 74
BB O Ex 54 63 117 324 | 846
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